
Proceedings of NAACL-HLT 2019, pages 892–901
Minneapolis, Minnesota, June 2 - June 7, 2019. c©2019 Association for Computational Linguistics

892

∗ †

†

∗

它



893

它 电脑



894

  Let      me       verify        it     before    submitting   it.

                   

...
...

...
...

  



895

X = (x1, x2, ..., xs)
C = (X1, ..., Xm)

P (Y |X,C)
Y = (y1, y2, ..., ys) Y

X

X C

X

s d

xn, n ∈ {1, ..., s}

hn = [
←−
h n,

−→
h n]

xn, n ∈ {1, ..., s} f

−→
h n−1 b←−

h n

hn = [
←−
h n,

−→
h n−1]

C

X
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X

i =
{1, ...,m} csi = [←−csi,

−→csi]

j = {1, ..., k} cwi,j = [←−cwi,j ,
−→cwi,j ]

X
C

hn

csi rsn,i

asn,i

rsn,i = hT
ncsi

asn,i =
ersn,i

∑m
i=1 e

rsn,i

sn

sn =
m∑

i=1

asn,i · csi

hn

sn

hsn = W 2d×4d[hn, sn] + b2d,

hsn
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hsn
cwi,j

rwn,i,j

awn,i,j

rwn,i,j = W 1×2d(hsn � cwi,j) + b1

awn,i,j =
erwn,i,j

∑k
j=1 e

rwn,i,j
,

awn,i,j

wn cwi,j

awn,i,j

cwi,j

twn,i

asi

wn

twn,i =
k∑

j=1

awn,i,j · cwi,j

wn =
m∑

i=1

asn,i · twn,i

hn wn

αn = tanh(W1 · [hn;wn] + b)

P (yn|xn,C)= softmax(W2 ·αn + b)

loss=−∑
l∈N

∑s
n=1δ(yn|xn,C) (P (yn|xn,C)),

N s

δ(yn|xn, c) xn

16.7
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他们
她

他
它
她们
我
我们
你

你们
它们

hn−1

hn

我 你
它 94.47
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